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& /B4 (Answer Sheets)

1. If the weight of a 1m long wire is 15g, what are the weights of 3m and 5m wires respectively?

AR 2% Im KA E B2 169, W70 KM% 3m K 5m K HZ T HE R .

Im 3m sm
Weight of the wire 15
2 i :
2. If the weight of a triangular plank of width 5m is 50kg, what are the weights of two similar

triangular planks, which are cut from the same wooden plank, of widths 1m and 3m
respectively?

WER—HefE 5m =MTEARRIE SR 50kg, TR FIHEHAH FIAEL R KT ARAHAL,
Sr5IRE 1m K& 3m =R E R,

Im 3m 5m

) A/\

Weight of the triangular
plank
AR EE 50kg




If the weight of a cuboid of sides 20 cm, 40cm and 60cm is 8kg, what are the weights of two
cuboids indicated in the table below?

IR —NLKy 20 cm, 40 cm 160 cm HIK TR K E &2 8kg, K T RN PIANAIF
RAMKITT R E S,

20 cm 30cm
10 cm
40 cm
20 cm
60 cm
30 cm
60 cm
90 cm
Weight of the
cuboid 8kg
KT H EE

Referring to Q1, Q2 and Q3, try to identify the relationships for the three different objects.
MEE Q1, Q2 A1 Q3, IAGY tH =Fh AR SRR G, H H 5 4 AT B e 1 KN e

Object The relationship between weight and size
Ytk HEMADMIR R

Wire

H 2k

Triangular plank

EVEEN




Cuboid
Ktk

Given the weight of a 3.5m tall Asian elephant is 4700kg. Estimate the weight of a 4m tall
African elephant.
CLn— Hm 3.5m MM %, RN 4700kg, P LA — Hm 4m B R H & .

3.5m tall Asian elephant 4m tall African elephant
3.5m IS 4m RIS
Weight of the
elephant 4700kg
KR EE




Annex 1 shows a Koch Curve (note 1), if there is another longer Koch Curve whose width is 3
times that of the Koch curve shown in Annex 1a, how many times is the weight of the longer
Koch curve of the original one?

B 1 — AR (ERE ), BRI 5 — NBORRI R 2k, R B2 B 1 Fos DR
(3%, SRR W BB S AR IR — SR i 2k 1) 22 /D % 2

Annex 2 shows a Sierpinski Triangle (note Il), if there is another bigger Sierpinski Triangle
whose base is 4 times that of the Sierpinski triangle shown in Annex 2, how many times is
the weight of the Sierpinski triangle heavier?

K 2 &R = ARG 1), BA 5 MEORR R =k =08, HOE
WKERE 2 s 4 5, KREREWERERARKL —MEU/R SR =M 2 b

3

There is a picture of a Sierpinski pyramid in Annex 3. If there is another bigger Sierpinski
pyramid whose base has a side doubles in length of that of the Sierpinski pyramid in Annex 3,
how many times is the weight of the bigger Sierpinski pyramid heavier?

Kl 3 Frosad — MR ENEE G FE . ROA 57— MERIER B iR e, R
KIE W 3 s iImife, KREKFHHEEZARIE e B2 02




9. With reference to the computer graphic of trees, try to figure out the rules in making these
trees.

SN EALL RIS, 1] S T S DL AR 2 ] H X e J 52 7




10.  Are the silhouettes of tree in Q9 be classified into one of the class in Q4? Why?
FERLE 9 FIIR AR BT RE M NN H 4 rh i Hrh— 102 3 A?




11.

Refer to the news: 225 DL i [ 4Rk F::

FkEm SRR BEARIERUG 38 M B GEERBR 2014 408 H 15 FD
AU R AR W R R NFEA, R LPEEESE R AR
EL R 15 K HENEER, 5852 HB G AR B 2 SRR IV AT N Bk, K — & AE
IS PRI 37 B A EE LR, AR EA, E SRR, AR
HoBUFIESEA

An English translation of Apple Daily 15/8/2015:

A fallen tree at Mid-levels killed a pregnant woman. The victim's baby was
delivered by emergency caesarean section but was in a critical condition.

It was the fourth death in six years caused by a falling tree. A 15-metre-tall India-
rubber tree which was suspected to be infected with fungi and brown root rot
disease crashed down a private slope of a residential block on Robinson Road,
Mid-levels. The tree fell on a 37 years old heavily pregnant woman who was
waiting for a minibus on the roadside. She lost consciousness after being hit in her
head by the tree and was pronounced dead at the hospital.

The table below shows some measurements the height of India-rubber trees and the above
ground weight respectively. Estimate the above ground weight of the 15m India-rubber tree.

N ARB LA [R]  BE  E BEASR AR (R U e T R A ) R . AR T 15m
IR B

Height of India-rubber tree/ m Above ground weight of tree / kg
P BRI =1 BE [ m & tH B TR BB A 1 B/ kg
1.6 14.3
3.9 105
4.2 124
5.0 183
5.3 205
5.9 265
15
e



	CPS1415_Pri_Final_Qn_cn

